0
c South Shetland Islands
= 100 Mean NASC = 173.9
T 200
=)
300 -+ ‘ ‘ ‘
0% 20% 40% 60%
Antarctic Peninsula
Mean NASC = 36.4
300 T T T T 1
0% 10% 20% 30% 40%
0
—_ Scotia Sea
£ 100 Mean NASC = 561.6
N
°
(0]
e
300 T T T T 1
0% 20% 40% 60% 80%
0
E 100
E=
§ 200
300 + ‘ ‘ ‘
0% 10% 20% 30%

Depth (m)

Depth (m)

Depth (m)

East Scotia Sea
Mean NASC = 162.6

0

100

200

300\ T T T 1
0% 10% 20% 30% 40%
South Georgia
Mean NASC = 4.2
0
100
200
300\ T T T 1
0% 10% 20% 30% 40%
0

South Orkney Islands
Mean NASC = 37.5

40% 60%

300 -
0% 20%

South Sandwich Islands
Mean NASC = 14.4

Figure 8. Depth distribution of myctophids by strata from 50-300m.



